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QUESTION 1

A reservation policy allows a strict relationship to be established between a blueprint and what other vRealize
Automation object?

A. Storage reservation
B. Business group

C. Tenant

D. User group

Correct Answer: A

QUESTION 2

vRealize Automation uses vRealize Orchestrator endpoints to run what sort of workflows?
A. Network and security-related workflows

B. Allocation-based workflows

C. Third-party cloud provider workflows

D. vSphere cluster workflows

Correct Answer: A

QUESTION 3

When adding an Active Directory Identity Source, which two fields are required? (Choose two.)
A. Login User DN

B. URL

C. Domain alias

D. Active Directory Domain Controller Name

Correct Answer: AB

QUESTION 4
Health badge score of a vCenter Server to suddenly drop to 0?

What is a possible reason for the
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A. The vCenter Server has lost connectivity to a datastore.

B. The vCenter Server Inventory Service has stopped responding.
C. The vSphere Client cannot connect to vCenter Server.

D. The vCenter Server virtual machine CPU utilization is at 100%.

Correct Answer: A

QUESTION 5

What is required for a tenant to manage an item in vRealize Automation that was created by a vRealize Orchestrator
workflow?

A. A provisioned resource

B. A resource mapping

C. A resource action

D. A published service blueprint

Correct Answer: A

QUESTION 6

Which three data sources are supported for use with vRealize Business Standard? (Choose Three.)
A. Microsoft Azure

B. EMC Storage Resource Management

C. IBM SoftLayer

D. vCenter Server

E. vRealize Log Insight

Correct Answer: ABD

QUESTION 7

Once an administrator has added a new property definition to the Properties Dictionary, in which two places can it be
used? (Choose two.)

A. In a Build Profile
B. In a Machine Blueprint

C. In an Entitlement
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D. In a Service Blueprint

Correct Answer: AB

QUESTION 8

What is the most efficient way for an administrator to add multiple endpoints to vRealize Automation?
A. Upload via CSYV file.

B. Export admin data to the vRealize Automation Web Console.

C. Populate plugin data for each endpoint.

D. Add plugins via multiple groups concurrently.

Correct Answer: A

QUESTION 9

What step is required to use the default vRealize Orchestrator instance with vRealize Automation?
A. Install vRealize Orchestrator on the vRealize Automation appliance.

B. Start the vRealize Orchestrator service on the vRealize Automation appliance.

C. Deploy the vRealize Orchestrator appliance and attach it to the vRealize Automation instance.
D. Install the vRealize Orchestrator plugin on the vRealize Automation instance.

Correct Answer: B

QUESTION 10

An IP address is provisioned from a vRealize Automation Network Profile static IP range. What will happen when the
workload using the IP address is destroyed?

A. It will be automatically returned to the range for reuse within minutes.

B. It will be batched with all reclaimable addresses and returned to the range daily.

C. It will be permanently marked as unavailable for that specific range to prevent IP conflicts.
D. It will be marked as unavailable until the range is deleted and recreated.

Correct Answer: A

QUESTION 11
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Which step should an administrator take to avoid conflict on a subnet between vRealize Automation Network Profiles
and existing workloads?

A. Enable DHCP on the Network Profile.

B. Upload a CSV file with the existing IP addresses and host names to the Network Profile.
C. Manually mark IP addresses as used.

D. Enable the Shared Network flag in the Network Profile.

Correct Answer: B

QUESTION 12

A tenant requests to use their own email server instead of the default email system defined. How does the tenant
administrator fulfill the tenant request?

A. Select Override Global in Email Servers menu and add tenant specific email server details.

B. Select Override Global in Email Server menu and have a buiness group admin add tenant specific email server
details.

C. Select Override Default in Tenant Configuration menu and add tenant specific email server details.

D. Select Override Default in Tenant Configuration menu and have a business group admin add tenant specific email
server details.

Correct Answer: A

QUESTION 13

Refer to the Exhibit.
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An laaS administrator is unable to remove the PayloadO1 cluster from the Fabric Group shown in the exhibit.
Based on the exhibit, what could be the cause of the problem?

A. The cluster is assigned to one or more Reservations.

B. The cluster is assigned to one or more Reservation Policies.

C. The administrator doesn\\'t have the required permissions to remove clusters from the Fabric Group.

D. To remove a cluster from a Fabric Group the hosts must be in maintenance mode.

Correct Answer: A

QUESTION 14

How can an administrator make a commonly used development environment available for end-users to deploy?
A. Use vCenter Server templates to deploy the virtual machines needed for the service.

B. Use the Service Catalog to publish the virtual machines needed for the service.

C. Use the vCloud Connector to deploy the virtual machines needed for the service.

D. Use vRealize Application Services to deploy the virtual machines needed for the service.

Correct Answer: B
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QUESTION 15

Which three options will ensure that all machines deployed by the finance business group have the same Distributed
Firewall rules? (Choose three.)

A. Using Service Composer, create a Security Policy named Finance with the firewall rules.

B. Using Service Composer, create a Security Group named Finance based on machine name and specify the Finance
Groups Machine Prefix.

C. Using Service Composer, assign the Finance Security Policy to the Finance Security Group.
D. Using the Distributed Firewall, create a Security Policy named Finance with the firewall rules.

E. Using the Distributed Firewall, create a Security Group named Finance based on machine name and specify the
Finance Groups Machine Prefix.

Correct Answer: ABC
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